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BOO— NRABEFEHFTITKEDTEET,
You can go by taxi, bus, train or on foot.
EHAL, HA ME CHZ ZF 4 lojQ.
HAEAMTHVTEZVL

Please ask at the tourist information center
£ oh A0l EosHF M.
Biitid 55T H?

Where is your destination? | SHX|=
LSy A—FIFCFIAAEETT,
EZX3HD—FIFCNhTY,

You can use the credit cards shown here.
MEIIEE 0|2 JtSHLICE 0|8 7158t FIEE= o[ YL|CY,
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It takes XXX minutes to your destination.
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Do you need a receipt?
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English

For customers | 12 &HZEiFH
~FTHEEWVWLET,

Please take me to XXX.

~THX| REIEZR.

CCTEDLET,

I'll get off here. | O{7|A LHEA L.
BEEIIEDLLEVWTTH?

How farisit? | Z{2l= o= HEo17IQ?

BREIEED<5SVWHh D ETH?
How long does it take?
AlZt2 dojLt H2|Le?
ILSybhh—FI3EZEIH?
Can |l use a credit card?
MEIIEE £ + ULIK?
CCTEF->TVTLIETL,

Please wait here.
o7|M 7|CHFM 8.

3 BRIIR? HERV<BTIN?
CoTIELTESET, How much isit? | @32 goiste?
I will be waiting here. | §7|M CH7|5H3 &Lt LY T h?
Efix mAbLHbET, Where are we now?
The fee will be XXX yen. | 22 _algiL]ct, M II= ofrilzta?
ER NRE zE HAENFR arveE=
station | bus stop | HA™MZH airport | 2% touristinformation center 23 k4~ convenience store | Mol
LSV ER BAREHEE BEE E8 - X&E
restaurant | A EZ pharmacy| 2= Japaneserestaurant| 2282 Japanese pub | OIXtFOF  policestation police box| ZEA T4
&b 100 @>3v7 SLEE h7zx vayeEyiera—
hospital | 'H¢ 100 yen shop 10091 & ~ souvenir shop | 7|4 71 cafe | 7tH| shopping center | 2L ME]
FTFIL FREE Wi-Fi BLYE PR PILOE
hotel | =€ inn| 27t Wi-Fi | eto|m}to] smoking area |94 yakitorirestaurant | 2K 71
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Card | 7lE
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Cash | €2
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